
 

 

  



 Knitted Slippers  ( Each slipper needs approx. 70 grams, = 2x100g balls cost &5 from Shiploads) 

2xcircular needles and 2xstraight needles for band and top of foot  ( maybe double pointed needles) 

 (size 4.50mm) 

2x 100g 8ply yarn knitted together 

Cast on  loosely 37 stitches for cu3, using 2x straight needles 

Rib cu3 

Row1= *knit1, purl1, repeat to last stitch k1. 

Row2= *purl 1, knit1, repeat to last stitch , purl 1 

Repeat these 2 rows until 12 rows are complete, ending with the 2nd row 

Garter stitch ( all rows knit plain) 

Next row , knit 25 , turn 

Next row , knit 13 turn 

Knit 42 rows on these 13 sts , for top of foot. 

1=Next row , Knit 2 together , knit to last 2  stitches, knit 2 together. 

2=Next row , Knit 

Repeat last 2 rows to shape toe until 7 stitches remain., ending with 2nd  row. Cut thread 

Use1x  circular needle  and right side facing start at right side  of band , join in thread 

Next row=Knit 12 sts of cuP then pick up 21 sts alongside right side of top, then the 7 sts at toe, then 
pick up 21 sts along left side and also knit the 12 sts from cuP=  73 sts 

(Add in 2x circular needle at centre of toe)     HINT a crochet needle helps when picking up side sts 

Next Row=Knit   ( you may need to use an extra needle at toe, Magic loop method) 

Knit a total of 12 rows on these  73 stitches . 

Sole 

Row1=knit 2tog, knit 29, (knit 2 tog. Knit3) twice, knit 2 tog , knit 28, knit 2 tog 

2nd Row and all alternate rows=knit 

Row3=Knit2 tog , knit 27 ( knit2 tog, knit 2 ) twice knit2 tog , knit 27 , knit 2 tog 

Row 5= knit 2 tog, knit 26 ( knit2 tog , knit 1) twice knit 2 tog, knit 25 , knit 2 tog 

Row 7= knit 2 tog , knit 24, ( knit 2 tog ) 3 times , knit 24 , knit 2 tog. 

Row 8= knit.   = 53 sts 

Cast oP 

Using a flat seam ,join sole foot  and cuP seams 

 


